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University of Mustansiriyah bada|\Kaeyn,

Department of Chemistry 1% Exam-paper B G.

Q1: Circle the right answer for all of the following: \Q{ A : (50 points)

1: A vessel of 5000 mL capacity contains a certain amount of gas at 313 °Cand 2 bar pressure. The gas is transferred
to another vessel of volume 10000 mL at 40 °C: t should be its pressure?

b) 1.0 mmHg c) 75 cmHg d) 1.5 bar

2: If the particles of a'gas are polar that mean di tween %;?md Preal is
Answer: a)low b) equal ' & 2 1\
3: Calculate the temperature of 5000 mmol o fg’.{ 10° Pa? Z ‘ 2 ' )
Answer: a) 40.2°C daz2k /, = 7

: /( i L‘// )‘\./ l
4: Calculate the weight of NHz (17 g.mol ! k\ ( /

NS

Answer a)22.11 kg @ e

Z b) noble c) perfect d) compressed

7: According to the Dgo gtal mole fraction.i g Squal to?
Answer: a)in ipf " d)x
) . ] ve; ) Zx

/
7

8: What is the partial pressure of a gas in a mixture, if the X is 1, and the cpﬂﬂ'/lfibns are at STP?
Answer: a)0.99torr b) 0.89 bar 900/4tm _|d) 1.01bar /€
) ) 6] 0.9004tm |d) C/ v

>

/’

9: At high pressure the Z > 1 which means the domi ’""B\forces are?
Answer: m b) equal /¢ 4‘,{ c) repulsions d) attractions
fouiS/ :

1

10: According to Avogadr s law the amount of a gas at STP is?
Answer b) 2.00 m ;/M c) 1.00 mmol d) 2.00 mmol

é/
Q2: The air inside a flexible 3.5 L ntaiﬁer has a pressure of 115 kPa. What should the volume of the container
be increased to in order to decrease the pressure to 625 torr? (25 points)

Q3: A 3 dm? container holds 0.5 moles of N, gas at 42 °C. What is the pressure inside the container? (25 points)
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